
<latexit sha1_base64="Sro3Ld9M8Kvf7FykEPV8PdyLCAI="></latexit>x1
<latexit sha1_base64="89StF6GqA8LnFegTW9qX+PDrWOk="></latexit>a1

<latexit sha1_base64="FzylTIKNeIC3nIz68R/U/8Qn+mM="></latexit>a2
<latexit sha1_base64="YLqe8gVamyqmsSIN00fRt/G6+cI="></latexit>x2

<latexit sha1_base64="+G6RNse15t0kl/SFNjk0QmpZVHE="></latexit>

⇠2

<latexit sha1_base64="QAn6FFP7ebjf9JeHBlXhyVv9/mQ="></latexit>

⇠1

<latexit sha1_base64="89StF6GqA8LnFegTW9qX+PDrWOk="></latexit>a1
<latexit sha1_base64="FzylTIKNeIC3nIz68R/U/8Qn+mM="></latexit>a2

<latexit sha1_base64="+2/Ov/PXvz31MM64v1nQt0nWRng="></latexit>

F+
1 = +T1,2

<latexit sha1_base64="tAtsr+UsE5MKEsowvZhlf3ne10g="></latexit>

F�
2 = �T1,2

<latexit sha1_base64="MzKZ5OSqILfawswzS85/HG0jbHY="></latexit>

T1,2

<latexit sha1_base64="3gZAcX2V/9lV/a4OsxQp2p9jEiA="></latexit>

l1,2

<latexit sha1_base64="wVWYLLTxGI152yTOXDBU7B5fZ3o="></latexit>

h1,2


